
Εξάσκηση στο Κεφάλαιο 35 

 

1. Φτάνω στους αριθμούς στόχους. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Κάνω τις πράξεις όπως στο παράδειγμα. 

 
● 12.840 + 573 = 12.840 + 500 + 70 + 3 = 13.340 + 70 + 3 = 13.410 + 3 = 13.413 

 
● 13.070 + 1.782 = 
 

 

● 14.810 + 3.832 = 
 

 

● 17.120 - 736 = 17.120 - 700 - 30 - 6 = 16.420 - 30 - 6 = 16.390 - 6 = 16.384 

 
● 14.780 - 1.296 = 
 

 

● 16.240 - 3.367 = 
 

 

● 18.430 - 2.765 = 
 

 

 

 

17.000 - ………… 6.000 × ………… 14.100 + ………… 17.100 - ………… 

 
 

12.000 

3 × ………… 11.400 + ………… 

16.860 

2 × ………… 18.000 - ………… 
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